H0£Rf SLBRAY L EEERR (FLoRRAR) £ FRIR
SRR P Y B TR

— EELE (FH3A X 90 4)

(

FIRS
gl
~D

3L+ E 80+(—28 )+d chiE & ¥

(1) 13 (2) —13 (3) 13 (4) —T73
2)2.(24 ,36 ,48)+ (24 ,36 ,48]) =729

(1) 146 (2) 156 (3) 166 (4) 176
2 )3.#0.00031812 # & e 5L 4 5+ %3.18 x 10" » Pln= ?

(1) -3 (2) -4 (3) -5 (4) -6

I . FE>ena B L L34 PIE-HEREL 552

(1) 5 (2) 6 (3) 1 (4) 8
N N
1 2 3 9
(D) 3 (2) 3 (3) 1 (4) 7
3 )6. Ex=—2FF > B3x+behiE s 55 ?

(1 11 (2) 4 (3 —1 (4) 1
2)7. Tar 36, hE &> feT7vi- B3+ 4pk ?
(1) a>6 (2) a=6 (3) a<b (4) a=6
1 )8. Trom— BEht x+4=0E &+ ?
(1) (—=4,00 (2) (0, —4) (3) (4,4) (4) 3, —2)
4 9. ¢ f (AW B FL(DH 243+ (4)+{(5) =15 RIf(6) =7
(1) 6 (2) 5 (3) 4 (4) 3

4)10.¥a:b=5:2>b:c=4:3>Rla:b:c=7?

(1) 5:2:3 (2)b5:4:3 (3) 10:2:3 (4) 10:4:3
[R° #F % 23 725 17)



$)11.& n #25- B+ &830° Bl n =
(1) 8 (2) 10 (3) 12 (4) 14
32 XA AT P EF b S A% 5 13335 4-T-2-4-5-6 % » 3R
TERIR IR 0D
(1 2 (2) 5 (3) 6 (4) 10
IS - Bo AL BT S 2AME 25 HE Al E S 50 A0 9

(1 3 (2) V3 (3) V6 4) 2
3 )14, T Flin & 4 64:0T S 42 9
(1 8 (2) +2[2 (3) +8 (4) +4
1 )15, 2 w35 A=38x—4)(2x+3) $H;*B=x+50Gx—4)RIT7@FELA{B
o F N9
(1)(3x — 4) (2)(2x + 3)
(3)(x+ 5) (4)Bx—4)(2x+3) (x+5)

2 )16. T 7l % L(3x+1)(x—5)=0:h2 ?

1 1 1 1
(1) g#5 (2) —3#5 (3) g& =5 (4) —3& =5
2 )17.V90en i 4 3 5|vR e i i K ez ¥ 9
(DL 8-+9 (2) 9-~10 (3) 10~11 (4) 11-~12

2)18. - K¢ 35 15 Bxk- > S5 a 1 215 5L 5 EP— 2k Rt sfmiier 30 3 Frompf 2 @ 7

H + @ 3 1 —
4 )19. T HvR— BER Y I EF L E]?
(1) 0~2-4-6~8-10~12~14 (2) 1~2~3-4-5-6-7-8
(3) 2~2+2+2~2-2-2-2~2 (4) 0~1~0~1~0~1-0-1
4 )20. AABC ¢2 ADEF ¥ » ~A=,D=90" > AB = DE » BC=EF > R|/AABC=/ADEF & 4345w
BaEPE?

(1) SAS (2) ASA (3) SSS (4) RHS
[F° #F 4% £ 3 F2527])



7\

1 )21. % 2x2 4+ 7x+ 37 A& 222 2x+a)(x+b) > Bla+b="?
(1 4 (2) 8 (3) 5 (4) —5
(20220 5k Byrpd A 558 - iEEF T 3

CER - TN LR L S AR A

\_‘
i
e
=i
A=
F
¥
pEiSs
3
~D

(1 1i (2) 23 (3) 31 (4) 43

(1 )23. &fFdd b4 F=2F1en b= EE B % ol > 285 14-10-7~34~7~20~

TA 1410571067} PF > 30 izl dicdhonfdes 55 9
(1 7 (2) 10 (3) 14

(4) 20
( 1)24. 4@ > AABC® » DE// BC, AD =38 4
- B JYAN.
B =12-AE =6 p] AC =2 E >,
(19 (2) 10 (3) 12 (4) 14
(325 1 = #a5% SiEsiisn?
(D 2 (2) 3 (3) 6 (4) &2 % %
4)26. 4B FIGBEROH > > B 00 = ?
(D
(1) 5 (2) 6 (3) 7 (4) 8 50 )

7\

N\

4 )27k ==H|" 9 tEEE#Ls N5 12-3-25-35-38-58+~53+-43~-48 & -

Blpt s (T M enT 3oz s s S K& 2

(1) 32# (2) 334 (3) 34 (4) 35p%

3)28. LW > G B 5 AABC e s

F E
2o a3 Bad R FRI5 120 RIAABC 5 =7 A

B C
(1) 24

D
(2) 30 (3) 36 (4) 42
2 )29, 2w A=2x"> ZB=(3x—80)" » ¥ LA &5 /B 34 Pl LA T REKE R ?
(1) 45° (2) 104° (3) 90° (4) 110°
1 )30.4 7 :#25ABCDE* $:er 22+ 3 27 #25A'B'C'D'E' - 5 2D=50" > B 2«D eh¥t g %
Z D=9
(1)50° (2)60° (3)120° (4)150°

[R? #F L 23 F2%37]



Iy
#

AL (FRL2A,H104)

LEFsd- sk y=x+5)2-7 BAaigaEk=_ (-5>-T) -

2.33+43+53+63+73+83+93+103+ 113+ 123 = 780

3. ST HE P o R p hE R G M AT 4

TE x (25) 10 20 30 40 50 60
&y () 5 10 15 20 25 30
(DFEEHEREFHRIFT I 25 L -

(2) 4o% 45458 § 150 > siehpp > RZ & 75 Ao

IR To SRR E 0 SIS ILEE F SRCLE SEILE

[R? #F L 23 F2%47]

6

o



